Simplifying Strategies: Student Work
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Mia has 36 crayons. Shylan has 12 fewer crayons than Mia. AR
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Mia has 36 crayons.-Shylan has 12 fewer crayons than Mia.
a. How many crayons does Shylan have? It bog -, 24 Y 13
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Mia has 36 crayons. Shylan has 12 fewer crayons than Mia. M;

a. How many crayons does Shylan have? 4

b. How many crayons do Th'T have altogether?
|
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Choose the best strategy and solve. Explain why you chose that strategy.
1@;’ ‘76(5 Explanation:

2. 300+ 524 Explanation:
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Choose the best strategy and solve. Explain why you chose that strategy.

1. 467 +,£9 Explanation:
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Choose the best strategy and solve. Explain why you chose that strategy.
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Problem 1

Pencils come 12 to a package. David gives some pencils o his friends.
Now he has 7 left. How many pencils did he give away?

I7-5=7 He Jave away
|

A 5 penclls.

Kyla has a dime and three pennies. A friend asked her for 8 cents.

N
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Problem 2

a. What can Kyla do to be able to give her friend 8 cents?

b. How much maney would she have |sz after giving away 8 cents?
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The red colored pencil is 17 centimeters langl/ﬁne green colored

pencil is 9 centimeters shorter than the red colored pencil “What is
the total length of both pencils?
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Milan earhed 16 more stickers than Rene. She earned 35 stickers.
How many stickers did Rene earn?

Georgm earned 47 s'rn:kers How many more does Rene need to have
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Milan bought 114 notecards. She used 70 of them. How many unused
notecards did she have left?

10/ vy e She ha
A A1+ Of“irdjﬁ

1M fo
= 100-70 =30 ’C’lq‘
0+14= Hy




Simplifying Strategies: Student Work

RDW Name (i n "U £ Daote

A children's library sold 27 donated books. Mow, they have 48. How
ks were there to begin with?
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A children's library sold 27 donated books. MNow, they have 48. How
many books were there to begin with?
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Susan has 37 pennies. MJ has 55 more permres than Susan.
a. How many pennies does MJ have? = he “}/ - I+ > A
b. How many pennies do 1‘h§ have, a}TaazTh%r‘?‘ s ‘3‘{ have
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Susan has 37 pennies. MJ has 55 mere pennies than Susan.
a. How many pennies does MJ have?
b. How many pennies do they have altegether?
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Katherine had 39 animal cards in her collection. &ianluca gave her 36
more. How many animal cards does Katherine have now?

Zg120 _ pqre. 67t = JO B8

K&/%?rme r_,’( i
has JJ. (’O )7!/

CIR 7 f"'Jr(z (()!‘ﬂ

J h e

Katherine had 39 animal cul‘ds in her collection. Gianluca gave her 36
more. How many animal cards does Katherine have now?
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Katherine had 39 animal cards in her collection. Gianluca gave her 36
more How many animal cards does Katherine have now?’jﬁ%
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How many stickers did Rene earn?

the same amount as Georgia? 10
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Milan earned 16 more stickers than Rene. She earned 35 stickers.

Georgia earned 47 stickers. How many more does Rene need ta have

g i
o L2 I =
557 25 ~ =
M :_1}—/3 <C
RLB__&__i —T) [ on = oo
— | Fne  has ;L;Lck

JI’;
2 8

320

nmg e

Date

RDW Mame

Hew many stickers did Rene earn?

the same amount as Georgia?

b.

Milan earned 16 more stickers than Rene. She earned 35 stickers.

Georgia earned 47 stickers. How many mere does Rene need to have
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Milan earned 16 more stickers than Rene.
How many stickers did Rene earn?

Georgia earned 47 stickers. How many more does Rene need fo have

19

the same amount as Georgia?

She earned 35 stickers.
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Steven bought 61 t-shirts. He gave 29 of them to his friends. How

many 1-shirts does Steven have left?
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Steven bought 61 t-shirts. He gave 29 of them to his friends, How
many t-shirts does Steven have left?
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Steven bought 61 t-shirts. He gave 29 of them to his friends. How
mary t-shirts does Steven have left?
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2. Emily said that 400 - 247 is the some 08 399 - 246, Write on explanation using
pictures, numbers, or words to prove Emily is correct
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